SHEMARPE SRR TG BHA:92.09.09

& HE#R "
1-1 [[E -~ Jfal
E]] = o FEZR #

— B—EEE (BE 5 9
1-(B) I-AABC[i- AB=2 - [[|AB-BC= (A)-2J3 (B)-2(C)2 (D)2v3 (E)4
: @-@zh@”I;C|c051200:2x2xc05120°:—2
2.(D) F%Eysﬁ, b#0, a-bl=|bl-lalr#EifEF1E (A)a-b=0 (B)a, b Hif
il - = al>[ol (©a, bjte~ - = al>lbl (D)a, b i - = al<lbl
E)a, b Hif~ - = al<bl
3 (E) 777347 ABCDE [|1» AB =2 » [I| [ itV [ 441 2 (A) AB-AC
(B)AC-AD (C)AC-AE (D)AB-AD (E)AB-AE
i24%] : " AB-AC = |AB| |AClcos36°> 0
HB,E):\ATE’J \,ﬁ)|cos72°>0
AB- AE =|AB| |AE|cos108° <0
,@@:\Ka |ATD|C0336°>O
,Q:AAE:|R:| |AAE|cos72°>0
4~ (A) T34 ABCDEF[|1 - % AB=a, BC=b - [|[EA= (A)a-2b (B)a+2b
(C)2a-b (D)2b-a (E)b-2a

i317|: EA=EO+OA=(a-b)+(-b)=a-2b
5-(A) D#AABC .V BCi - 2 CD=2BD - G £ AC V[t j‘é',}I%]’GTD[F[JE%%HjE@
GD =r AB+SAC » H 11 % s KL Hlr +5 1 [l 57 (A)% (B)% (C)% (D)—%

4
(E)—g

B3k GT)=§A+E+E?3=—%T:+ B+%I;:—EAC+AB+%(AC—AB):—AB—EAC

) 1
Sor+s=—
2

6-(D) T-AABCi> AB=2 " AH LBC# H [[(AB+HC)-AH = (A)-3 (B)-243

£1H



(C)2+/3 (D)3 (E)6
J3

: (AEH—TC)-@ _ AB-AH :2x\/§><7:3

—

1+ ABCD ¥ #[4357 » & /A=60°, AB=2, AD=3 - [[|(1) AB-AD ,

(2) AC-AB = °

#2147 : AB.AD =|AB] \ATa\coseoozzxsx%::s

— e e e e—

— (AB+ AD)-AB =| AB[? + AD-AB=4+3=7

%)
@

-2, bl=4 ¥ Ba-b)F(a+b)=F | i) a-b= : (2)35&?5 e
K0 El[Jcose— °

247): al=2, bl=4, Ba-b)-(a+b)=0 ..a-b=2
2 1
4x2 4

cosf =

3-al=1, bl=v3 T alb ¥ (t+2atbarth AL flt=_ @y -

f3fi]: alb ..a-b=0:% al=1, b|=+3
[(t?+2)a+Db]-[a+tb]=0

(tz+2)\§\2+t\6\2+[t(t2+2)+1]Q-B:O: t?+2+3t=0, t=-1f-2

4 r%al 5, bl=5, c|=6 % a+b+c=0[]a b= N
a-b+b-c+c-a= g
i#47]: a+bl=|-c|, al’+2a-b+[bl’=[c/ > . ab=-7"

£2H



_ . -

< a+rb+cl=0=al+lblrlcle2(a-brb-c+c-a)=0

12 -2 -2
oo o RPRPoP

J.a-b+b-c+c-a= 5 -43

f&47| §+B\2=\3\2+23~E+|B|2=7 .'.EB:l
..cos0 = a-b _1
lal [b]

S.0=060°

—_—

6 - 5 ABCD k571 74357 » AB=4, AD=1 - [IJAC-BD =

i314]: " ABCD £5 [FHMET,  °. AC = AB+ AD

—_—

BD=AD-AB ..AC-BD=|AD]-|AB=-15

7.2 al=2bl#0 - = 7la+bl=+v3la-Dbl| - [ja, b Vo=

1 120°

i34 : 4 bl=K, al=2K. 7la+b/’=3a-b/° ..a-b=-K?
PN K2
ceosg= B K1 1000
~ K@K 2
al |b]

8« 7 347 ABCD [|1 > ~A=120°, AB=1,AD =2 “' AC =3AB+2AD » 7} AC =

—2 bV 2 _ 2
i215|: AC =|AC| =9|AB|  +12 AB- AD+4|AD|
:9+12-1-2-(—%)+16:13 (-.-Ez-AT)=|KénAT>|cosA=12~1-2~(—%)=—12)
. AC =13
9+ AABC f[i- AB=5, BC=6, CA=7 - [[|(1)CA-CB = - (2)CA-AB=

1(1)30  (2)-19
: (1)CA-CB =|cal [CBI -cosC

2 -2 — 2
_|GAl [Gh e+ I8l - |8l

2lcAl Bl

£3H



= (A" + GBI - A8l = L 77+ 67 -57) =30

(2)CA-AB = — AC- AB

=~ (AT +ABf - [BCI") =~ 49+ 25-36) =-

10~ Fal=3, bl=1-a%b IH530° - ¥ artbEa = - [ft= :

5 %[ 23

i#47]: a-b = 3xl><£:3x/— (a+th)-a=0 .'.g|2+t-¥:0 St=-243

11~ Ypiip - ABCDEF FBIER ED 1 fUT+ 385 JI SIS s 271 E__D

l
@
a

(A)AB-AB (B)AB-AC (C)AB-AD (D)AB-AE (E)AB.AF -

[# 3] (A) AB-AB = |AB["=1

(B) AB- AC = AB| |AC| -cos.~BAC =1-+/3-c0s30° =

(C) AB- AD = |AB| |AD] -cos ./ BAD =1.2-c0s60° =1
(D) AB- AE = |AB| |AE| -cos .~ BAE =1-+/3-c0s90° = 0

(E) AB- AF =|AB| |AF|-cos.” BAF =1.1-c0s120° = -
5. (B)>(A)=(C)> (D) > (E)

S a+bl=|-¢|
T, a+bl=|-¢f
Eile al’+2a-b+[b) =[cl’

}Iﬁ’]’@f*‘ THE F+2a-b+5°=6°

- = F E
a-b=1
13 7 357 ABCDEF |1 » a = AB,b=BC - 3ta, b
DF , AE ,EC -
B C

m4E b



p= I ﬁ==|5E+|§5:(-§)+(_E):_§_b

/7

AE = AD+DE=2b-a
FC

EC = EF+ =—B+2a 2a- b
14~ =7 E”%F” RS el B
PEE 7;)5&4*“%% ) T .‘? SER

:!:I\ fl 3?—\’\1[—_4X2—8|[_'[HJ£_| °

£5H



